S.64/6t, 7c, 8a,b, 9a,c

6t)
3.1,4% =2
1g(3 1,43 )= 1g(2“1)
lg3+1g(1,4°) = (t-1)1g2
Ig3+3tlg(l,4)=tlg2-1g2
3tlg(1,4)—tlg2 =—1g2—1g3
t(3lgl,d—1g2)=—-1g2-1g3
(=—12271e3 56653
31gl4—1g2
7cC)
125- 57x+10 — 251—2x
1g(125 _ 57x+10): lg(251—2x)
12125+ 1g(57x+1°)= (1-2x)1g25
1g125+ (7x +10)1g(5) = (1-2x)1g 25
1g125+7x1g5+101g5=1g25-2x1g25
Tx1g5+2x1g25=1g25-1g125-101g5
x(71g5+41g5)=21g5-31g5-101g5
x-11-1g5=—-11-1g5
Xx=-1;

8a) 0,5
8b) 0,5

9a)
3% 4.3 +3=0
Substitution: v:=3"
v —4v+3=0
4+416-4-1.3 412
2 2
vi=3v,=1
3N =332 =1
x; =1 x,=0

L={1; 0}

Via =

9b) L = {3; 2}



